* E & H K OB i & #w® & #F

SMT4E6H 120
£AA LEE) TEEH |FERIOLE|HEK)| E8 (k)| BEA) | FEME) | RiE(A) L No.
R7.6.12 [FL\ZA = Y 10 @
R7.6.12 |EL\ZA FE #Y 10 @
R7.612 [£2L\CA &F 3Y = @
R7.6.12 [[ZALA FE Y 10 @
R7.6.12 |I2ALCA A% i) = @
R7.6.12 |IE<&0N EH #Y 15 ®
R7.6.12 |IE<&0Y &F 3Y = ®
R7.6.12 |Fv_Y B34 =Y 10 @
R7.6.12 |F4A_Y FiE Y 10 @
R76.12 |[FrAY Bt #Y = @
R7.6.12 |/RoLU™y HE #Y —% ®
R7.6.12 |RIL U™y EH Y —% ©®
R7.6.12 |FRroL U™y &% Y = ®
R7.6.12 |h¥ (F) B4 #Y —R ®
R7.6.12 |a¥ (&) B3 #Y 5 ®
R76.12 |fa¥ (&) FE #Y 5 ®
R76.12 [@a% &F Y = ®
R7.6.12 |L&X E% #Y 10 @
R7.6.12 |LAX &% Y = @
R7.6.12 |EHSY(R—3—) B #Y 504
R7.6.12 [Zp35Y(A) BE Y 5 ®
R76.12 |Z9>5Y () #51E #Y 5
R7.6.12 |Zp>5Y &5t Y =
R7.6.12 | FBe BERE #Y 10 ®
R7.6.12 |MFBw iG] Y 10 ©
R7.6.12 |MFH &G ##Y = ®
R7.6.12 |19 (%) 15 Y 5 ®
R7.6.12 |49 (&) Z50 Y 5 ®
R7.6.12 |19 (§) Ll Y 3 ®
R7.6.12 |%5d (&) REAR Y 4 ®
R7.6.12 |49 &% Y = ®
R7.6.12 [Feh B4 ) 4 ®
R76.12 |FTh BEX Y 4 @
R7.6.12 [Fk iy #Y 9.0 ®
R76.12 |E—<> B3 Y 0.15 @
R76.12 |E—=> a5t #Y = @
R7.6.12 [£535C2L IS Y 5
R7.6.12 [&5652L fidci] Y 5
R7.6.12 [£535C2L af Y -
R7.6.12 [Z1ZE® Eido Y 0.2
R7.6.12 [z 12&E® af Y -
R7.6.12 |[Ehi L& B ) 10 ®
R7.6.12 |[EhL L& R Y 10 ®
R76.12 |[Fhi L& a5t #Y = ®
R7.6.12 |=FhRE =l Y 20 ®
R7.6.12 |f=Fta¥ B8 ) 20 @
R76.12 |t=Fh¥ &% #Y = @
R7.6.12 [FEL&LSH fidci] Y —=R
R7.6.12 [FEL&SAH AF Y -
R7.612 [H£LUV=1F 46 Y 0.1 ®
R7.612 &L V=T &% Y = ®
R7.6.12 [ DELIT &H Y 0.2
R7.6.12 [ZDELIT Af Y -
R7.6.12 [SALHL &H Y 0.1
R7.6.12 [S7LHL idGi Y 0.1
R7.6.12 [SALSHL At Y -
R7.6.12 [5& (5] Y 10
R7.6.12 (58 A Y 10
R7.6.12 [5& aE Y -
R7.6.12 [&t Y 9.0
R7.6.12 |85t Y 9.0 R RE
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F E & H KR O® MmO OW® & F

SFIT4E6 A 12A
FAH mf FEEH |REWGIOAE| HE20 |28 (ke)| BIE) B () ZIE(M) L No.
R7.6.12 |2l \CA BH Lisbol 13.6 10 1944 1674 1620 ©)
R7.6.12 |\ A FE ks 10 @
R7.6.12 [ZL\CA AE ks 16.1 ©)
R7.6.12 |[I2ALA FE A%t 74 10 2592 2160 1944 @
R7.6.12 [ICALCA Eh At 8.7 @
R7.6.12 [l&<&Ly RH #Axt 6.0 15 1728 1080 972 [©)
R7.6.12 [l&<&Ly AE At 8.4 ®
R7.6.12 |Fv~Y B30 A%t 10.6 10 1188 756 540 @
R7.6.12 [FvRY FE ks 1.0 10 810 @
R7.6.12 |F¥_Y &t ks 16.2 @
R7.6.12 [FRoL2V™ HE ik —=® ®
R7.6.12 [RyLvymy rH ks 03] —X 108 97 ®
R7.6.12 [FRoL V™ aF At 1.2 ®
R7.6.12 |[RE(#H) FHE HAxt 05| —X 162 162 76 ®
R7.6.12 [R&¥(A) R fisksl 0.5 5 3024 1728 1728 ®
R7.6.12 [RE(A) FE ks 0.9 5 3024 2916 2484 ®
R7.6.12 (& aF ks 24 ®
R7.6.12 [LAX rH HAxt 6.3 10 1404 1048 972 @
R7.6.12 [LAX AaE ks 71 @
R7.6.12 [Ep5Y(R—3—) FHE ks 0.1 504 2484 2160 864
R7.6.12 [Zp>5Y(A) BE ks 40 5 3672 1998 1728 ®
R7.6.12 [Z035Y(A) FHE Lizkst 2.3 5 1944 1728 1512
R7.6.12 [Z6®>5Y it ks 10.9
R7.6.12 |AFLe BERE A%t 1.2 10 3780 3240 ©]
R7.6.12 [AFbw idG] fisksl 1.7 10 4320 3780 3456 ©)
R7.6.12 [MMEE% o ks 30 )
R7.6.12 |49 (&) [ITES bS] 5 ®
R7.6.12 |49 (&) FH ks 0.5 5 2376 2376 2160 ®
R7.6.12 |%29 (R) fidG] At 0.4 3 1728 ®
R7.6.12 |49 (K) REX fisbsy 39 4 1728 1512 1080 ®
R7.6.12 &9 af ik 6.0 @
R7.6.12 |k<h fidci] At 34 4 1728 1404 1188 @
R7.6.12 [k<k X At 26 4 1728 1620 1404 @)
R7.6.12 |2k At At 6.0 ()
R7.6.12 [E—<> Ei3 At 23[ 015 108 ®
R7.6.12 [E—=> At At 24 ®
R7.6.12 [£535C2L IS At 35 5 3024 2160 1944
R7.6.12 [&5652L fidci] At 5
R7.6.12 [£36AZL af A% 3.9
R7.6.12 [21=F® Eido At 0.4 0.2 281 281 270
R7.6.12 |Z212F% A% A% 0.4
R7.6.12 [IEhi L& fidci] ks 6.1 10 3024 1944 1620 ®@
R7.6.12 [I[Ehi L& RIG At 10 ®
R7.6.12 [IEhi L& At At 7.0 ®
R76.12 |f-FhFE & A%t 10.0 20 3564 3240 2700 @
R7.6.12 |f=FhRE B8 ks 2.9 20 3780 2700 2700 @
R7.6.12 |f=FRE af A% 132 ®
R7.6.12 [FEL&LSH B At 01 —3=X 130 130 124
R7.6.12 [EL&LSAH o LB 0.1
R7.6.12 [£LL M=IF B At 0.4 0.1 162 130 76 ®
R7.6.12 [£LL V=T Af A%t 0.4 ®
R7.6.12 [ DELIT &H At 0.3 0.2 59 51
R7.6.12 |ZDEFF Af A%t 0.3
R7.6.12 [SALHL &H At 0.3 0.1 43
R7.6.12 [SL&HL idGi AAxt 0.9 0.1 68
R7.6.12 [SALSHL At At 12
R7.6.12 [5& idGi AAxt 02 10 9180 7560 7560
R7.6.12 (58 eI At 0.9 10 16794 8640 8100
R7.6.12 [S%L&HL Af A%t 1.1
R7.6.12 [&t At 116.0
R7.6.12 |85t AAxt 116.0 R RE
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F E & B KR % M OB #® &

SFTHE6 A 12H
F£HH md FTEEH |FERMSIOAE|HEK) 2H (ke)| HEM) o {E (M) RIE (M) &% No.
R7.6.12 |#MA (1N IR) FriE Y 04
R7.6.12 |#MA At Y -
R16.12 (YA (Pard—LR) |& Y 10 @
R7.6.12 [JAZ (5L) &= Y 10 @
R16.12 (YA (UF/3—LK) |EH Y 10 @
R76.12 |YAC At Y = @
R7.6.12 |Uh 5] Y 0.4
R7.6.12 |UbH &% Y -
R76.12 |33 [T Y 5 @
R7.6.12 |63 il =Y 0.5 @
R7.612 3% =h Y = @
R76.12 |F7d4 [T Y 0.5
R7.6.12 (4% FhiE Y 05
R7.6.12 [F74% Ak Y -
R7.6.12 |55&5 1} Y 0.2
R7.6.12 |55&5 Ak Y =
R7.6.12 | RES(TTILIT) PN Y 0.3
R7.6.12 [R&ES At Y -
R7.6.12 [AQAF—ILR) B By 8 ®
R7.6.12 [AOU(FUTR) I Y 5 ®
R7.6.12 (A0 (Z0D1h) B3] Y 5 3
R7.6.12 (*AY Ak Y = ©)
R7.6.12 |[FLIM(/\DIR) I Y 15 @
R7.6.12 |[FLIM(/\HR) FhiE Y 15 @
R7.6.12 |[FLIM(/\HR) Z50 Y 15 @
R7.6.12 |[FLIM(/\HR) RER Y 15 @
R7.612 [F L\ &t Y = @
R7.6.12 |&t WY -
R7.6.12 |#a&t Y - MR RE
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¥ B R OB KR % M K W & #

STHE6A 12A
F£HH md FTEEH |FERSIOAE| #E20 |28 ke)| HEM) o {E (M) RIE (M) &% No.
R7.6.12 |#MA (1N IR) 5] Lizkst 0.4 0.4 702 702 648
R7.6.12 |#h A ait HE*E 0.4
R7.6.12 |YAZ (P3FT—ILR) |F ks - 10 ®
R7.6.12 [YAZ (5L) & Lizks) 24 10 7,020 6,264 5,400 @
R76.12 |YAZ (F/3—ILK) |FFH Lizks) 0.7 10 4,644 3,780 3,024 @
R7.6.12 VAT it Lizbs 32 @
R7.6.12 |Uh 5] Xt - 0.4
R7.6.12 |U4 aF Lizbs 0.1
R7.6.12 |3% [ITE HExt - 5 @
R76.12 |33 FriE ks 0.7 0.5 540 @
R7.6.12 |3% aF At 0.7 @
R76.12 |F%3% [ITE ks 0.1 05 518 486 410
R7.6.12 (4% FhiE Xt - 05
R7.6.12 [F74% Ak Xt 0.1
R7.6.12 [£5&5 1} Xt 0.2
R7.6.12 [£5&5 Ak Xt 0.4
R7.6.12 [RES(TFVLIT) PN Xt 0.4 0.3 572 540 410
R7.6.12 [R&ES At Xt 0.4
R7.6.12 [AOU(7—ILR) FoiE Xt 8 ®
R7.6.12 [AOU(FUTR) I A%t 0.2 5 3,240 2,700 ®
R7.6.12 [AQ(F D) I A%t 0.1 5 3,780 3,780 3,240 ®
R7.6.12 (*AY Ak Xt 14 ®
R7.6.12 |[FLIM(/\DIR) I ks - 15 @
R7.6.12 |[FLIM(/\HR) FhiE ks 15 @
R7.6.12 [FLI\M(/\HR) FH Xt 15 @
R7.6.12 |[FLIM(/\HR) RER ks - 15 @
R7.6.12 [FL A At Xt 25 @
R7.6.12 |5t Haxt 9.2
R7.6.12 |#a&t Haxt 9.2 iR RE
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